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‘Ldentity the Constant of Proportionaity Indspendent practice Workshest.

‘Complete al the problems. Make sure to éraw pictures to help you solve the
probiems.
1. The graph below represents the total purber of

plants and number of seed packets used. What is the
constant of proportionalty?
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2. The graph below represents the total rumber of ups o coffee and the
total amount o sugar required 1o make the coffee. What Is the constant of
proportonality?
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3. The graph below represents the packets of biscuits consumed over time.
What is the constant o proportionalty?
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4. The araph below represents the chocalate consumed by people. What s
the constant of proportionalty?
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5. The graph below represents the number of songs played on 2 radio
Station. What s the constant of proportionaity?
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